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3agaya A. lllndposka k1aBuatypoii

#include =iostreams
#include <strings
#include <vectors

using namespace std;

vector <string> vec = {
"gwertyuiop",
"asdfghjkl",
"zxcvbnm"

Yi

int main() {
string s;
init k;
cin > 8 >> k;
for (int i = 0; i < s.size(); ++1i)

for (int j = 0; j < vec.size(); ++j)
int t;
for (t = 0; t < vec[j]l.size(); ++t) {
if (vec[jl[t] == s[i]) {
break;
}
}
if (t < vec[j]l.size()) {
cout << vec[j]l [(t + k) &% wvec[]].size()];
}
}
}
return 0;

3agaya B. Xurpas dpyukuus

#include <iogtreams
#include <stdio.hs
#include <cstrings
#include <vectors



#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

<algorithms

<cstdlibs>
zcmaths
<gqueue>
<stack>
<map>
<sets>
<ctime>
<cassert:>

<unordered maps>

<fstreams>
<random>
<cstring>
<bitsets>

#include <functicnals

f#idefine all(a) (a).begin(), (a).end()
#define pb push back
#define sz (a) (int) (a).size()

using namespace std;

typedef long long 11;
typedef pair<int, ints> pii;
typedef pair<ll, 1ll> pll;
typedef long double 1d;

int pi

void add(int &a, int b) {
a += b;
if (a >= p) {
a -= D;
}

}

void mul (int &a, int b) {
11 ¢ = (1l)a * b;
c %= p;
a = ¢;

}

int binPow(int a, int b) {
if (b == 0) {
return 1;
}

int res = binPow(a, b / 2):
mul (res, res);
if (b & 1) {
mul (res, a);
}

return res;

igk fline &, 168, dint x, ine v {
int tmp, u = 0, v = 0;

tmp = a;
mul (tmp, x);
add{u, tmp);
tmp = b;



mul (tmp, ¥);
add(u, tmp);

tmp = aj;
mul (tmp, b);
add (v, tmp);
tmp = x;
mul (tmp, Vv);
add (v, tmp);

if (v == 0) {
return 1;
)

int res = u;
mul (res, binPow(v, p - 2));
return res;

int main() {
// ifstream cin("input.txt");
// ofstream cout ("output.txt");
// freopen("input.txt", "r", stdin);
// freopen("output.txt", "w'", stdout);
ios_base::sync_with stdio(false);
cin.tie(0);
cout.tie (0);

int a, b;
11 k;
cin >> a >> b »>> p >> k;

int cur = 0;
if (a == 0) {

cur = k % p;
k = min(k, 2 + k $ 2);

} else {
k = min((1l)a + 1, k);
cur = k;
}
for (int i =k - 1; 1 5= 1; --i) {

cur = E£la, b, enr, I ;

}

cout << cur << endl;
return 0;

3agaua C. Cnucok puaLMOB
#include <iostream>
#include <vectors

#include <cstdios

using namespace std;

vector <ints a, b;



int main() {

ios_base::sync_with_stdio(0);
cin.tie(0);

int n;

cin >> n;

a.resize(n) ;
b.resize (n);

for

}

(int i = 0;
cin =» al[i]

1< n; ++1i) {
>> bli];

bool £l = 1;
for (int i = 0; 4 + 1 < n3 ++1i) {
if (afi] > ali + 1] && b[i] > b[i + 1]) {
£l = 0;
break;
}
}
if (1£1) {
cout << "NO" << endl;
return 0;

}

cout << "YES" << endl;

for (int i =n - 1; i »>= 0; --i) {
cout << i + 1 << " ",
if (L ==n - 1 || ali] <= ali + 11) {
cout << "1\n";
} else {
cout << "2\n";
}
}
return 0;

3agaya D. Ilnocel 1 MEHYCHI TOC/IeI0BaTeIbHOCTEI

#include
#include
finclude
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

<lostream>
<stdio.h>
<cstring»>
<vector>
<zalgorithms>
<cstdlib>
<cmath>
<queue>
<stack=>
<map>

<set>
<ctime>
<casserts>
<unordered map>
<fstream>
<random>
<cstring>
<bitsets>
<functionals>




#define all(a) (a).begin(), (a).end()
#define sz (a) (int) (a).size()

using namespace std;

typedef long long 11;
typedef pair<int, ints pii;
typedef pair<ll, 1ls pll;
typedef long double 1d;

const int P = 1le9 + 7;

int main() {
// ifstream cin("input.txt");
// ofstream cout ("output.txt");
// freopen("input.txt", "r", stdin);
// freopen("output.txt", "w", stdout);
ios_base::sync_with_stdio(false);
cin.tie (0);
cout.tie (0);

string s;
cin s> 5;
int n = sz(s);

vector<ints> p(n)
for (int i = 0;
plil = i;

£ n; ++i) {
}

int res = 0;
for ( ; ;) {

bool ok = true;

for (int 4 = 0; 1 < n; ++i) {

if (pli] >= i && s[i] == '-') {
ok = false;
break;

)

if (pli] <= i && 8[i] == *4+7) {
ok = false;
break;

}
}
res += ok;

if (!next permutation(all(p))} {
break;
}

}

cout << res << endl;
return 0;



3apaua E. [loxsemenss, noaszemenbs H elé Oosiblne moa3eMeTHii

#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

#define
#define
#define
#define
#define
#define
#define

<cstdios>
<iostreams
<ctime>
<string>
<vector:>
<cmath>
<algorithm>
<cstring>
=set>
<map>
<cstdlibs>
<ctimes
<casserts>
<bitsets
<deque>
<stack>
<climitss>
<strings
<ueues:>
<memory.hs>

11 long long
1d double
pii pair <int, ints
forn (i,
wp make pair
ui unsigned 11
pll madie =1l ,

n) for (int i = 0; i < (int)n;

11>

using namespace std;

const int maxn =

(int)1le5 4+ 10:

int v[maxn];

const int inf =

int calelint o,
11 ans =

for

}

return

}

(int)1e® + 10;

int x) {
0;

(int i = n; i == 0; i-=) {
ans *= x;
ans += v[i];

ans = min(ans, (11)inf);

(int)ans;

int main() {

int

int

cin

for

n;
t;
=> I =>» t;

{int i = 0
scanf ("

<= n; i++) {
v, &vIi]l);

|-

ap
joh

i4++4)




int 1
int r

]

-1
le9 + 10;

il

while (1 != r) {

}

llm= (1 + r + 1) »»
if (calc(n, m)

1l = m;
)

else {
r=m -
}

<= £

1y

int q;

cin »> q;

while (g--) {

}

int x;
scanf ("$d", &x);
1

}

else {
printf ("NO\n") ;
}

fx e= 1) {
printf ("YES\n");

return 0;

3apaya F. llonapku

#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

<cstdio>
<lostreams
<ctimes
<string>
zvector:>
<cmaths
<algorithm>
<cstrings
<sels
<map>
<cstdlibs>
<ctime>
<casserts>
<bitset>
<deques>
<stack>
<climits>
<string>
<queues
<memory.h>

#define 11 long long



f#idefine 1d double

#define pii pair <int, ints

#define forn(i, n) for (int i = 0; 1 < (int)n; i++)
#define mp make pair

#define ui unsigned 11

#define pll pair <11, 11s

using namespace std;

const int maxn = (int)6e4 + 10;
char s[maxn] ;

bitset <maxn> b;

int cnt [maxn] ;

bitset <maxn> now;

int main() {
int n;

cin »> n;

for (int 1 = 0; 1 < 2 * n + 1; 1i++) {
char x;

scanf (" %c", &x);

now(i] = x - '0';

}

scanf ("%s", s);

int pos = n;

for (int 1 = 0; 1 < n; i++) {
if (s[i] == 'T') {
cnt [pos] ++;
blpos] = 1;
else if (s[i]) == 'R') {
POS++;
else {
pos--;

}
}

int dx = pos - n;
int ans = (now & b) .count() ;
int st = n;

for (int 1 = 0; i <« n - 1; i++) {

if (s[i] == 'L') |
b <<= 1;
gE-~3
}
else if (B[] == "8} {
b = 1;
SC+4;




else ({

if (cnt[st] == 0) {

throw 1;

}

cnt[st] --;
if (cnt[st]

bln] = 0;
1

cnt[st + dx]++;

== O)

if (cntlst + dx]
bin + dx] =
}
}
ans = maxf{ans,

}

cout << ans << endl;

return 0;

3anaua G. Berymmue no craguony

{

== l]

.
’

#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#tinclude
#include
#include
#include
#include
#include
#include

#define all(a)

<iostreams
<stdio.hs>
<cgtrings
<vector>
<algorithms>
<cstdlib>
<cmath>
<gueue:
<stack>
<map:=>

<get>
<ctimes
<cassert>
<unordered map>
<fstream>
<random>
<cstring>
<complex>
<bitset>

(a) .begin(),

(a) .end ()

{

(int) (b & now) .count(});

#define pb push back
#define sz (a)

using namespace std;
typedef long long 11;
typedef pair<int, int> pii;
typedef pair<ll, 11= pll;
typedef long double 1d;

int main() {

(int) (a) .size ()




// ifstream cin("input.txt");

// ofstream cout ("output.txt") ;

// freopen("input.txt", "r", stdin);
// freopen("output.txt", "w", stdout);

ios_base::sync_with_stdio(false};
cin.tie(0);
cout.tie(0) ;

int n, len;
cin »>> n >»> len;

vector<ints> x(n), v(n);
for {int i = 0; i < n; ++i) {

cin >> x[i] s> v[i];
!

vector<int> p(n);

for (int 1 = 0; i < n; ++1) {
cin >> pli];
sl d

vector<pair<ll, int>> event;
int cur = 0;

for (int k = 0; k + 1 < n; ++k} {

int i = p[k];
int j = plk + 1];
11 tm = 0;
if (v[i] == -1 && vI[j] == -1) {
tm = x[i] + x([3];
} else if (v[i] == 1 && v[j] == 1) {
tm = (len - x[i]) + (len - x[j]);
} else if (v[i] == 1 && vI[j] == -1) {
tm = abs(x[i] - x[3]);
tm = (x[1i] < x[j] ? tm : 2 * len - tm);
} else {
tm = abs(x[i] - x[j]);
tm = (x[j] < x[1] ? tm : 2 * len - tm);
}
1f (x[4] < x=[j] || (x[i] == x[3] && vI[i] < v[§1)) {
++CUT;

event .push back({tm, -1});

event .push back({tm + 2 * len, 1});
} else {

event .push back({tm, 1});

event .push_back({tm + 2 * len, -1});

}

event.push back ({0, 0});
sort (all (event)) ;

for (int i = 0; i <« sz(event); ) ({
int 3 = i;
for (; j < sz(event) && event[i].first == event[j].first; ++j) {



if (cur == n - 1 && event[i].first != 4 * len) {
cout << "Yeg" << endl;
return 0;
i = 93
cout << "No" << endl;
return 0;

cur += event[j].second;

}

// cout << event[i].first << "

3anaua H. Ceurepa Meii6.n

#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

#define
#define
#define
#define
#define

<cstdio>
<lostreams
<ctime>
<string>
<vectors
<cmaths>
<algorithm>
<cstrings
«<set>
<map>
<cstdlibs
<ctimes
<cassert>
<bitsets
<deque=>
=zstacks>
<climitss
<string>
<queues
<memory.hs

11 long long
1d double

pii pair <int,
forn(i, n) for

ints>
(int 1 = 0; 1 <

(int)n;

<< cur << endl;

i44)

mp make pair
ui unsigned 11
pll pair <11,

#define
#define 1] 5%
using namespace std;

vector <pair <pii, int> > v;

char s[10];

int cnt[3];
int £[31;

int main{) {
for (int i = 0; 1 < 3; i++) {

int x, v3

gcanf ("$d %4",

&X, &Y);



v.push_back (mp{mp(x, y), 1));

}

sort (v.rbegin(), v.rend());

for (int i = 0; 1 < 3; i++4) {
E[v[i] .second] = i;

}

int n;

cin => n;

for (int 4 = 0; 1 < n; i+s) |
scanf ("%¥s", s);

veetor <inkts> g;
if (al0] == "B || sll] == "Rt} {
g.push _back(0);

if (a[0] == 'g* || &[1] == '6') {
g.push back(1l);

if (s[0] == 'B' || s([1] == 'B') {
g.push back(2);

flglol];
flgl1l];

glo]
gl1]

mon

sort (g.begin(), g.end());

if (glo] == o) {
if (gl1] == 1) {
cnt [0] ++;
}
else {
cnt [1] ++;
}
else {
cnt [2] ++;
}
)
11 ans = -1;

for (int i = 0; i <= cnt[0]; i++) {
if (1 > v[0].first.second) ({
continue;

}

if (ent[0] - i > v([1].first.second) {
continue;

}

1l now = (ll)v[0].first.first * i;




}
if

}

now += (ll)v[1].first.first * (ent[0] - 1i);

int a = v[0].first.second - 1i;
int b = v[1].first.second - (cnt[0] - i);
int ¢ = v[2].first.second;

int enl = ent[1];
int cn2 = cnt[2];

if (enl <= a)
now += (l1l)v[0].first.first * cnil;
}

else |
now += (ll)v[0].first.first * a;
cnl -= a;

if (& < en1) |
continue;
)

now += (ll)v([2].first.first * cnil;
c -= ¢cnl;

}

if (cn2 <= b) {
now += (l1)v[1l].first.first * cn2;
}

else {
now += (ll)v[l].first.first * b;

cn2 -= b;

if (o < en2) {
continue;
}

now += (l1l)v([2].first.first * cn2;

}

ans = max(ans, now);

(ans == -1) {

cout << "NO" << endl;

else {

}

cout << "YES" << endl;
cout << ans << endl;

return 0;

3agaua L. Junnep u Tabauna

#include
#include
#include
#include
#include

<iostream>
<set>
<map>
<vector:>
<string-=



#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include

<algorithms

<cmaths>
<cstdios>
<climitss>
<ctimes
<cassert>
<queues
<deques
<stacks

<memory.h>

<bitsets>
<cstrings>

<assert.h>

using namespace std;

#define 11 long long
#define mp make pair

const
const
const
const
const

12

1l mod =

double pi =
double eps =
11 maxn =

10
100
100

inf =

#define 1d double

int n, m, X,
vector<vector<int> > v(maxn);

11 bpow(ll x,

c,

Ll B

a [maxn] ,

3.14159265358979323846;

le-6;
0010;
0000007 ;
0000007 ;

) |

if (n == 0) {

}

return

1;

else if (n == 1) {

}

return

xi

else if (n & 2 == 0) {
11 tmp = bpow(x, n / 2);
return (tmp * tmp) % mod;

else {

}
}

return (x * bpow(x, n - 1)) %

int main() {

cin »>> n > m >> C;
for (int i =

for (int j =

0; 1 < n;

cin >> X;
[(i] .push_back (x) ;

k'
ali] =
B[] =
}
)
int mx = 0;
Tor (int L = B3 & <« ny
for (int j =
if (wii] {7]

max(al[i],
max(b[j], x);

b [maxn] ;

mod ;

i++) |

0; j < m; J++) {

)

i++) |

0; 3 < m; J++) {

!= min(alil, b[jl))

cout << 0;

{



return 0;

}
mx = max(mx, v[i] [§]1);
}
}

int k1 = 0, k2 = 0;

for (int i = 0; i < n; i++) {
1f (ali)] == mx) {
kKl++;
}

}

for (int i = 0; i < m; i++) {
if (bli] == mx) {
k2++;
}
}

1l ans = (bpow(c - mx + 1, k1) + bpow(c - mx + 1, k2) - 1 + mod) %
mod ;
cout << ans;

return 0;

3agay4a J. PernonanbsHeiii Bonpoc
#include <bits/stdc++.h>
using namespace std;

#define left soidvjsdivj
#define right sdosjdovidfjivE
#define less osijvdiv
#define equal dkpcmdoiv

#define sz (x) ((int) (x).size())

const int maxn = 1le5 + 10;
const int mod = 1le9 + 7;

namespace dsu {
int parent [maxn] ;
int rkl[maxn] ;
int root [maxn] ;

void init() {
for (int 1 = 0; i < maxn; ++i)

parent [i] = i;
root [1] = 1i;
rkid] = 1;

}

int find set (int v) {
if (v == parent(v]) return v;
return parent[v] = find set(parent [v]);

)

void unite (int a, int b) {
a = find set(a);



b = find set(b);
if (a = b) {
int rt = rootla];
if (rk(a] < rk[bl) swapla, b);
parent [b] = a;
rkla] += rk[b];
root[a] = rt;

}i

int n, k;

vector<int> graph[maxn] ;
char marked[maxn] ;

int height [maxn] ;
vector<ints> layer [maxn] ;
char is_marked_layer [maxn] ;
int last_marked [maxn] ;

int maxh;

int size[maxn] ;

int left [maxn], right [maxn] ;
int dp[maxn];

int suf [maxn];

void dfsl(int v, int p) {
if (p != -1) height[v] = height([p] + 1;
layer [height [v]] .push back (V) ;
if (marked(v]) {
is_marked layer[height[v]] = true;
}

for (auto to: graph[v]) {
if (to != p) |
dfsi(to, v);
}

}

void precalc() {
dfsl (1, -1);
maxh = *max_element (height, height + maxn);
for (int i = 0; i <= maxh; ++1i) {
if (is_marked layer[i]) {

last marked[i] = i;
} else {
last _marked[i] = (i == 0) ? -1: last marked[i - 1];

}
}

int fixedval;
int less, equal, more;

void clear_all() {
dsu::init () ;
memset (size, 0, sizeof(size));
memset (left, 0, sizeof (left)):;
memset (right, 0, sizeof (right}));
less = equal = more = 0;

}

void update left (int h) {



less = equal = more = 0;
for (auto v: layer(h]) {
size [v] = marked[v];
for (auto to: graphl[v]) {
if (height [to] < height[v]) continue;
dsu: :unite (v, to);
size[v] += sizelto];

}
if (size[v] > fixedval) ++more;
else if (sizel[v] == fixedval) ++equal;

else ++less;

}

void update _right (int h)
for (auto v: layer(h]) {
int rt = dsu::root[dsu::find set(v)];
if (!marked[v]) continue;
if (sizelrt] > fixedval) --more;

else if (size(rt] == fixedval) --equal;
else --less;

--size[rt];

if (sizelrt] > fixedval) ++more;

else if (size[rt] == fixedval) ++equal;

else ++less;

}

int solve(int need) {
clear all();
fixedval = need;
for (int i = maxh, p = maxh; 1 >= 0; --i) {
update left(i);
while (more > 0) update right (p--);
if (equal == sz(layer[i])) {
right[i] = p + 1;
left[i] = max(i, last _marked[p]) + 1;
}
}
dp [maxh + 1] = 1;
suf [maxh + 1] = 1;
for (int i = maxh; i >= 0; --i) {
if (right[i]) {
dp[i] = suf[left[i]] - sufl[right[i] + 1];
if (dpl[i] < 0) dpli]l += mod;
} else {
dpl[i] = 0;
}

suf[i] = dp[i] + suf[i + 1];
if (suf[i] s>= med) sufl[i] -= mod;
}

return dp[0];

}

signed main() {
ios_base::sync_with_stdio(false); cin.tie(0);

cin »> n >> k;

for (int i = 0; 1 < k; ++i) {
int v; cin > v;
marked [v] = true;




}

for {int 4 = 1; i ¢ n; ++i) {
int a, b;
cin >> a >> b;
graph[a] .push _back(b) ;
graph[b] .push_back(a) ;

}

precalc();
int ans = 0;
for (int d = 1; d <= k; ++d) {

if (k%4 == 0) {
ans += solve(d);
if (ans >= mod) ans -= mod;

}
}

cout << ans << '\n';
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